
0 10 20 30 40 50 60 70
0

100

200

300

400

500

number of bits

P
3
R
E
S
C
O
V
 P

a
th
 D

e
la
y
 (
s
iz
e
=
3
)

Firs t Path 

Second Path

0 10 20 30 40 50 60 70
0

100

200

300

400

500

number of bits

P
3
R
E
S
C
O
V
 P

a
th
 D

e
la
y
 (
s
iz
e
=
1
5
)

 

0 10 20 30 40 50 60 70
0

100

200

300

400

500

600

number of bits

P
3
R
E
S
C
O
V
s
 P

a
th
 D

e
la
y
 (
s
iz
e
=
3
)

Firs t Path 

Second Path

0 10 20 30 40 50 60 70
0

100

200

300

400

500

600

number of bits

P
3
R
E
S
C
O
V
s
 P

a
th
 D

e
la
y
 (
s
iz
e
=
1
5
)

 

 

 

 

 

 

 

A-PDF WORD TO PDF DEMO: Purchase from www.A-PDF.com to remove the watermark

http://www.a-pdf.com/?wp-demo


0 20 40 60 80
0

100

200

300

400

500

600

700

800

number of bits

R
N
S
 c
o
n
ve

rs
io
n
s
 D

e
la
y
 (
s
iz
e
=
3
)

Rescov 

Rescovs

0 20 40 60 80
0

100

200

300

400

500

600

700

800

number of bits

R
N
S
 c
o
n
ve

rs
io
n
s
 D

e
la
y
 (
s
iz
e
=
1
5
)

 

 

0 10 20 30 40
0

50

100

150

200

number of bits  (size=3)

P
ro
je
c
t 
1
 D

e
la
y
 

0 10 20 30 40
0

50

100

150

200

number of bits  (size=15)

P
ro
je
c
t 
1
 D

e
la
y
 

0 5 10 15
61

61.5

62

62.5

63

number of operands (n=6)

P
ro
je
c
t 
1
 D

e
la
y
 

0 5 10 15
197

197.5

198

198.5

199

number of operands (n=32)

P
ro
je
c
t 
1
 D

e
la
y
 

 

 

 

 

 

 

 



0 5 10 15 20 25 30 35
190

192

194

196

198

number of bits  (s ize=ceil(64/n))

P
ro
je
c
t 
1
 D

e
la
y
 

0 5 10 15 20 25 30 35
190

192

194

196

198

number of operands (n=ceil(64/size))

P
ro
je
c
t 
1
 D

e
la
y
 

0 10 20 30 40
0

0.5

1

1.5

2
x 10

5

number of bits  (size=3)

P
ro
je
c
t 
1
 A

re
a
 

0 10 20 30 40
0

2

4

6

8

10
x 10

5

number of bits (S ize=15)

P
ro
je
c
t 
1
 A

re
a
 

0 5 10 15
0

5000

10000

15000

number of operands (n=6)

P
ro
je
c
t 
1
 A

re
a
 

0 5 10 15
0

2

4

6

8

10
x 10

5

number of operands (n=32)

P
ro
je
c
t 
1
 A

re
a
 

 

 

 

 

 

 

 

 



0 5 10 15 20 25 30 35
0

0.5

1

1.5

2
x 10

5

number of bits  (s ize=ceil(64/n))

P
ro
je
c
t 
1
 A

re
a
 

0 5 10 15 20 25 30 35
0

2

4

6

8

10

12
x 10

4

number of operands (s ize=ceil(64/n))

P
ro
je
c
t 
1
 A

re
a
 

 

 

0 10 20 30 40
10

20

30

40

50

number of bits (S ize=3)

P
ro
je
c
t 
2
 D

e
la
y
 

0 10 20 30 40
10

20

30

40

50

number of bits (S ize=15)

P
ro
je
c
t 
2
 D

e
la
y
 

0 5 10 15
17

17.5

18

18.5

19

number of operands (n=6)

P
ro
je
c
t 
2
 D

e
la
y
 

0 5 10 15
41

41.5

42

42.5

43

number of operands (n=32)

P
ro
je
c
t 
2
 D

e
la
y
 

 

 

 

 

 

 

 



0 5 10 15 20 25 30 35
10

20

30

40

50

number of bits  (s ize=ceil(64/n))

P
ro
je
c
t 
2
 D

e
la
y
 

0 5 10 15 20 25 30 35
10

20

30

40

50

number of operands (n=ceil(64/size))

P
ro
je
c
t 
2
 D

e
la
y
 

 

 

0 10 20 30 40
0

0.5

1

1.5

2

2.5

3
x 10

4

number of bits (S ize=3)

P
ro
je
c
t 
2
 A

re
a
 

0 10 20 30 40
0

5

10

15
x 10

4

number of bits (S ize=15)

P
ro
je
c
t 
2
 A

re
a
 

0 5 10 15
0

500

1000

1500

2000

2500

3000

number of operands (n=6)

P
ro
je
c
t 
2
 A

re
a
 

0 5 10 15
0

5

10

15
x 10

4

number of operands (n=32)

P
ro
je
c
t 
2
 A

re
a
 

 

 

 

 

 

 

 



0 5 10 15 20 25 30 35
0

0.5

1

1.5

2

2.5
x 10

4

number of bits  (s ize=ceil(64/n))

P
ro
je
c
t 
2
 A

re
a
 

0 5 10 15 20 25 30 35
0

0.5

1

1.5

2
x 10

4

number of bits  (n=ceil(64/size))

P
ro
je
c
t 
2
 A

re
a
 

 

0 5 10 15 20
0

100

200

300

400

number of bits  (size=3)

P
ro
je
c
t 
3
 D

e
la
y
 

0 5 10 15 20
0

100

200

300

400

number of bits  (size=15)

P
ro
je
c
t 
3
 D

e
la
y
 

0 5 10 15
180

182

184

186

188

190

192

number of moduli (n=6)

P
ro
je
c
t 
3
 D

e
la
y
 

0 5 10 15
376

378

380

382

384

386

number of moduli (n=16)

P
ro
je
c
t 
3
 D

e
la
y
 

 

 

 

 

 

 

 

 



2 4 6 8 10 12 14 16
100

150

200

250

300

350

400

number of bits  (s ize=ceil(64/n))

P
ro
je
c
t 
3
 D

e
la
y
 

2 4 6 8 10 12 14 16
100

200

300

400

500

600

700

number of operands (n=ceil(64/size))

P
ro
je
c
t 
3
 D

e
la
y
 

 

0 5 10 15 20
10

5

10
10

10
15

10
20

number of bits  (size=3)

P
ro
je
c
t 
3
 A

re
a
 

0 5 10 15 20
10

5

10
10

10
15

10
20

number of bits  (size=15)

P
ro
je
c
t 
3
 A

re
a
 

0 5 10 15
10

9

10
10

10
11

10
12

number of moduli (n=6)

P
ro
je
c
t 
3
 A

re
a
 

0 5 10 15
10

16

10
17

10
18

10
19

number of moduli (n=16)

P
ro
je
c
t 
3
 A

re
a
 

 

 

 

 

 

 

 

 



2 4 6 8 10 12 14 16
10

5

10
10

10
15

10
20

number of bits  (s ize=ceil(64/n))

P
ro
je
c
t 
3
 A

re
a
 

2 4 6 8 10 12 14 16
10

10

10
15

10
20

10
25

10
30

number of operands (n=ceil(64/size))

P
ro
je
c
t 
3
 A

re
a
 

 

 

0 5 10 15 20
200

300

400

500

600

700

800

number of bits  (size=3)

P
ro
je
c
t 
4
 D

e
la
y
 

0 5 10 15 20
200

300

400

500

600

700

800

number of bits  (size=15)

P
ro
je
c
t 
4
 D

e
la
y
 

0 5 10 15
380

390

400

410

420

number of moduli (n=6)

P
ro
je
c
t 
4
 D

e
la
y
 

0 5 10 15
760

770

780

790

800

number of moduli (n=16)

P
ro
je
c
t 
4
 D

e
la
y
 

 

 

 

 

 

 

 



2 4 6 8 10 12 14 16
200

300

400

500

600

700

800

number of bits (s ize=ceil (64/n))

P
ro
je
c
t 
4
 D

e
la
y
 

2 4 6 8 10 12 14 16
200

400

600

800

1000

1200

1400

number of operands (n=ceil(64/size))

P
ro
je
c
t 
4
 D

e
la
y
 

 

 

0 5 10 15 20
10

6

10
8

10
10

10
12

10
14

number of bits  (size=3)

P
ro
je
c
t 
4
 A

re
a
 

0 5 10 15 20
10

8

10
10

10
12

10
14

number of bits  (size=15)

P
ro
je
c
t 
4
 A

re
a
 

0 5 10 15
10

8

10
9

10
10

10
11

number of moduli (n=6)

P
ro
je
c
t 
4
 A

re
a
 

0 5 10 15
10

12

10
13

10
14

number of moduli (n=16)

P
ro
je
c
t 
4
 A

re
a
 

 

 

 

 

 

 

 



2 4 6 8 10 12 14 16
10

9

10
10

10
11

10
12

10
13

number of bits  (s ize=ceil(64/n))

P
ro
je
c
t 
4
 A

re
a
 

2 4 6 8 10 12 14 16
10

5

10
10

10
15

10
20

10
25

number of operands (n=ceil(64/size))

P
ro
je
c
t 
4
 A

re
a
 

 

 

 

0 5 10 15 20
0

200

400

600

800

number of bits  (size=3)

A
ll
 P

ro
je
c
t 
D
e
la
y

0 10 20
0

200

400

600

800

number of bits  (s ize=15)

A
ll
 P

ro
je
c
t 
D
e
la
y

project 4

project 3

project 2

project 1

0 5 10 15
0

100

200

300

400

500

number of operands (n=6)

A
ll
 P

ro
je
c
t 
D
e
la
y

0 5 10 15
0

200

400

600

800

number of operands (n=16)

A
ll
 P

ro
je
c
t 
D
e
la
y

 

 

 

 

 

 



2 4 6 8 10 12 14 16
0

200

400

600

800

number of bits s ize=ceil(64/n)

A
ll
 P

ro
je
c
t 
D
e
la
y

2 4 6 8 10 12 14 16
0

500

1000

1500

number of operands n=ceil(64/size)

A
ll
 P

ro
je
c
t 
D
e
la
y

 

0 5 10 15 20
10

0

10
5

10
10

10
15

10
20

number of bits  (size=3)

A
ll
 P

ro
je
c
t 
A
re
a

0 10 20
10

0

10
5

10
10

10
15

10
20

number of bits  (s ize=15)

A
ll
 P

ro
je
c
t 
A
re
a

project 4

project 3

project 2

project 1

0 5 10 15
10

0

10
5

10
10

10
15

number of operands (n=6)

A
ll
 P

ro
je
c
t 
A
re
a

0 5 10 15
10

0

10
5

10
10

10
15

10
20

number of operands (n=16)

A
ll
 P

ro
je
c
t 
A
re
a

 

 

 

 

 

 

 

 



2 4 6 8 10 12 14 16
10

0

10
5

10
10

10
15

10
20

number of bits [size=ceil(64/n)]

A
ll
 P

ro
je
c
t 
A
re
a
 

project 4

project 3

project 2

project 1

2 4 6 8 10 12 14 16
10

0

10
10

10
20

10
30

number of operand[n=ceil(64/size)]

A
ll
 P

ro
je
c
t 
4
 A

re
a
 

 


